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Exercise 1. Let 4 be a non-empty set, let f: A — R and let Q € R. Recall the definition of
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“Q is a lower bound of f.”
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Exercise 2. Let p,b e C and k € N. Recall the Binomial Theorem (and mind the notations!):
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Exercise 3. Let € R. Fill in the blank (only give the final answer, no justifications required):
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Exercise 4. Let a,b € R. Recall the product formula:
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Exercise 5. Let ACR, let f: A — R, and let B C A. Recall the definition of f is decreasing on B.”
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Exercise 6. Let A be a non-empty subset of R that is symmetric with respect to 0, and let f:A—-Randg: AR
be two even functions. Prove that the function f+9:A—=Ris even.
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